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7XMXDQ�GDUL�SHQ\XVXQDQ�3URSRVDO�7XJDV�$NKLU�LQL�DGDODK�XQWXN�PHOHQJNDSL�

V\DUDW� XQWXN�PHQJDMXNDQ�7XJDV�$NKLU� SURJDP� VWXGL� 6LVWHP�.RPSXWHU�� )DNXOWDV�

7HNQLN�(OHNWUR��8QLYHUVLWDV�7HONRP���

3HQXOLV� PHQ\DPSDLNDQ� WHULPD� NDVLK� NHSDGD� VHPXD� SLKDN� \DQJ� WHODK�

PHPEDQWX� GDQ�PHPEHULNDQ� GXNXQJDQ� VHKLQJJD�3URSRVDO� 7XJDV�$NKLU� LQL� GDSDW�

GLVHOHVDLNDQ�� 3HQXOLV� PHQ\DGDUL� 3URSRVDO� 7XJDV� $NKLU� LQL� PDVLK� MDXK� GDUL� NDWD�

VHPSXUQD��XQWXN�LWX�VDUDQ�GDQ�NULWLN�\DQJ�EHUVLIDW�PHPEDQJXQ�GDUL�SHPEDFD�VDQJDW�

SHQXOLV�KDUDSNDQ�GHPL�SHUEDLNDQ�GLPDVD�\DQJ�DNDQ�GDWDQJ��

'HPLNLDQ� 3URSRVDO� 7XJDV� $NKLU� LQL� GLVXVXQ�� SHQXOLV� EHUKDUDS� 3URSRVDO�

7XJDV�$NKLU�LQL�GDSDW�PHPEHUL�PDQIDDW�NHSDGD�SLKDN�\DQJ�PHPEDFDQ\D���
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